—
Nl = Ol & At Ml A
2AM: DS AL
N QIREHE MUlA RS
0|2t= (G2 &)
- By 04| AroH J|&H Hins2
2,003,785 2,049,839 A\46,054
= 231,102 224,762 6,340
= 12,000 0 12,000
< 29,000 19,000 10,000
iy 1,731,683 1,806,077 ANT4,3%
SHAE MH|A P& 124,175 119,400 4,775
= 11,595 11,595 0
- 112,580 107,805 4,775
124,175 119,400 4,775
= 11,595 11,595 0
= 112,580 107,805 4,775
FOSE & L2H 58,156 53,381 4,775
403 AXIHMSAH=201 & 12,115 7,340 4,775
02 BI|ZSHCHEHAIEX 2 EAIZI 12,115 7,340 4,775
o IIMU FOISEHBAIAE(2X) 2E

38 12,115,000 * 14| 12,115 7,340 4,775
ASF2IE 159,520 139,520 20,000
A=HY2A 159,520 139,520 20,000
A=012 22| 109,520 89,520 20,000
201 Let2H| 99,280 82,280 17,000
01 AtR2t2|d| 93,780 76,780 17,000

o AILAIE| RLCIXQ! HES HH L EA|
17,000,000& * 14! 17,000 0 17,000
301 LEtEN= 3,000 0 3,000
12 J|Et2 A= 3,000 0 3,000

o HZLAIE| RLCIXQ! HES MY L EA|
INPS= 3,000,000& * 14! 3,000 0 3,000
=t 1,447,284 1,383,944 63,340
= 193,731 187,391 6,340
S 12,000 0 12,000
= 29,000 19,000 10,000
iy 1,212,553 1,177,553 35,000
308, 179 256,839 51,340
= 153,731 147,391 6,340
T 10,000 0 10,000
= 144,448 109,448 35,000
NE=S SHENTSAIY 72,668 37,668 35,000
T 10,000 0 10,000
= 62,668 37,668 25,000
201 LEt2HH| 72,668 37,668 35,000
< 10,000 0 10,000
= 62,668 37,668 25,000
01 AtR22teldl 72,668 37,668 35,000
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A DIZIEZARD:
Hu: 2SATjA 2 B2
ool NE o Exze (=E LD
S - FE - S2A(31) - HRAY - BAS (PNED p[E<El HlRE2
o NZDIZE NAEZS musia
87,5002 * 400% 35,000 0 35,000
= 10,000 0 10,000
= 25,000 0 25,000
NENEIINE=ESSCES)| 153,731 147,391 6,340
= 153,731 147,391 6,340
201 LBr2 | 153,731 147,391 6,340
= 153,731 147,391 6,340
01 AFR22t] 153,731 147,391 6,340
o NEMEASY 248  ZH 153,731,000 153,731 147,391 6,340
2 153,731 147,391 6,340
SENSEERY 2% 10,000 0 10,000
201 LBr2 | 8,600 0 8,600
01 AFR2aH] 6,700 0 6,700
o BEMNSHEIY ABAA M
4,500,002 4,500 0 4,500
o HENSEXXY B2 BHIIC MF
50,0002 1291 600 0 600
o HENSHIIY ZX 02 2|
8,002 * 2% * 1002 1,600 1,600
02 222l 1,900 1,900
o PENSHIIY 2% PWALZ
3802 * 5,0000H 1,900 0 1,900
202 01t 1,400 0 1,400
01 =Lhoid| 1,400 0 1,400
o PENSHEXH0 [2 Xl
20,0002 * 2% * 352 1,400 0 1,400
R 972,365 90,365 12,000
s 12,000 0 12,000
= 19,000 19,000 0
2 941,365 941,365 0
TREFA AL HX W 22 191,380 179,380 2,000
= 12,000 0 12,000
= 13,000 13,000 0
= 166,380 166,380 0
401 AlZHI L2 111,000 99,000 2,000
s 12,000 0 12,000
= 13,000 13,000 0
2 86,000 86,000 0
01 AlZH] 111,000 99,000 2,000
o TREFA OHjALES HX Y 24 51,000 39,000 2,000
- BHNE CRYT 200,002 * 607 12,000 0 12,000
= 12,000 0 2,000
WRES(RIZZAID 132,081 266,200 A134,169
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A UAZA
ZH: WRES(AIREMD)
o9l RIS (col )
SN - - E2(3) - R 0fl st p[E<L HImE2
LHEHH K= 132,031 266,200 A134,169
LHEHHXIZ 132,031 266,200 A134,169
701 JIEI HEHES 132,031 266,200 A134,169
01 JIEtsIHE &S 132,031 266,200 A134,169
o HETES
23 132,031,000& 132,031 266,200 A134,169
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